

**k -IDEMPOTENCY OF LINEAR COMBINATIONS OF
AN IDEMPOTENT MATRIX AND A TRIPOTENT
MATRIX THAT COMMUTE**

S. Krishnamoorthy* and T. Rajagopalan**

**Professor of Mathematics, Ramanujan Research Centre,
Government Arts college (Autonomous), Kumbakonam, Tamilnadu, India*

***Assistant Professor of Mathematics, Anna University of Technology Chennai,
University College of Engineering Villupuram, Tamilnadu, India.
e-mail: rajgopalant@rediffmail.com*

*(Received 10 October 2009; after final revision 10 February 2011;
accepted 10 March 2011)*

A complete solution is established to the problem of characterizing all situations in which a linear combination $C = c_1A + c_2B$ of an idempotent matrix A and a tripotent matrix B is k -idempotent. As a special case of this, a set of necessary and sufficient conditions for a linear combination $C = c_1A + c_2B$ to be k -idempotent when A and B are idempotent matrices, is also studied in this paper.

Key words : k -idempotent matrix, idempotent, tripotent, linear combination.

1. INTRODUCTION

Baksalary and Baksalary [1] studied and listed a set of situations for a linear combination of two idempotent matrices to be idempotent. This result was generalized in [2], where the idempotency of linear combinations of an idempotent matrix and

a tripotent matrix was studied. In this paper, we shall study the problem of characterizing situations for a linear combination $C = c_1A + c_2B$ of an idempotent matrix A and a tripotent matrix B to be k -idempotent.

The concept of k -idempotent matrices was introduced in [4], and the spectral and k -spectral properties of such matrices were obtained in [5]. Let ' k ' be a fixed product of disjoint transpositions in S_n -the set of all permutations on $\{1, 2, \dots, n\}$. Then let K be the associated permutation matrix of k . Hence, K is involutory (i.e., $K^2 = I$, where I is the identity matrix of order n). A matrix $A = \langle a_{ij} \rangle$ in $C_{n \times n}$ (the set of all complex matrices of order n) is k -idempotent if $\sum_{t=1}^n a_{k(i)t} a_{tk(j)}$ for all i and j in $\{1, 2, \dots, n\}$. This is equivalent to $KA^2K = A$.

$$\text{For example, } A = \begin{pmatrix} \frac{1}{2} & 0 & 0 & \frac{1}{2} \\ 0 & -2 & -\sqrt{3} & 0 \\ 0 & \sqrt{3} & 1 & 0 \\ \frac{1}{2} & 0 & 0 & \frac{1}{2} \end{pmatrix}.$$

Here A is a k -idempotent matrix, where $k = (1,4)(2,3)$. The associated permutation matrix K is a matrix with ones on its southwest - northeast diagonal and zeros everywhere else.

2. PRELIMINARIES AND NOTATIONS

It is well-known that a tripotent matrix B can uniquely be represented as a difference of two idempotent matrices, say B_1 and B_2 (i.e., $B = B_1 - B_2$), which are disjoint, in the sense that $B_1B_2 = B_2B_1 = 0$ (cf. Lemma 5.6.6 of [6]). If B_1 and B_2 are non-zero, then B is known as an essentially tripotent matrix. Otherwise, B reduces to a scalar multiple of an idempotent matrix. The k -idempotency of linear combinations of two commuting idempotent matrices is thoroughly studied in Theorem 1 of Section 3. A set of necessary conditions are listed in Theorem 2 for linear combinations of a commuting idempotent and an essentially tripotent matrix to be k -idempotent.

Let $A \in C_{n \times n}$. It can be proved that the set $\{X \in C_{n \times n} : AXA = A, XAX = X \text{ and } AX = XA\}$ is empty or a singleton. When it is a singleton, it is customary to say that X is the group inverse of A , and it is then denoted by $A^\#$. A matrix $A \in C_{n \times n}$ satisfying $A^\# = A^{t-1}$ for $t = 2, 3, \dots$ is called a $\{t\}$ -group periodic matrix [3]. Let Ω_3 denotes the set of all cube roots of unity [i.e., Ω_3 is the set containing $1, \omega$ and ω^2 , where $\omega = \exp(2\pi i/3)$]. It was proved in [4] that if A is k -idempotent, then it is quadripotent (i.e., $A^4 = KAKKAK = KA^2K = A$).

3. MAIN RESULTS

Lemma 1 — All k -idempotent matrices are $\{3\}$ -group periodic.

PROOF : Let A be a k -idempotent matrix. Since $AA^2A = A$, $A^2AA^2 = A^2$ and $AA^2 = A^2A$, we have $A^\# = A^2$. This implies that A is $\{3\}$ -group periodic. \square

Remark 1 : Let P and Q be two non-zero projectors. If $P = \alpha Q$ for some $\alpha \in C$ (the set of all complex numbers), then $\alpha = 1$.

Theorem 1 — Suppose that A and B are two non-zero, commuting idempotent matrices. Then a linear combination $C = c_1A + c_2B$, with non-zero complex scalars c_1 and c_2 , is k -idempotent if and only if one of the following conditions (1) and (2) holds.

(1) $A - B = 0$ holds along with either one of the following sets of conditions :

- (i) $c_1 + c_2 = 0$,
- (ii) $c_1 + c_2 = 1$ and $AK = KA$.

(2) $A - B \neq 0$ holds along with either one of the following sets of conditions :

- (i) $c_1 = 1, c_2 = -1, AB = B$ and $K(A - B)K = A - B$,
- (ii) $c_1 = \omega, c_2 = \omega^2 - \omega, AB = B$ and $K(A - B)K = B$,
- (iii) $c_1 = \omega^2, c_2 = \omega - \omega^2, AB = B$ and $K(A - B)K = B$,
- (iv) $c_1 = \omega, c_2 = \omega^2, AB = 0$ and $KBK = A$,
- (v) $c_1 = 1, c_2 = 1, AB = 0$ and $K(A + B)K = A + B$.

The remaining conditions (vi) to (ix) are obtained from (i) to (iv) by interchanging c_1 by c_2 and A by B .

PROOF : (1) If $A - B = 0$, then $C = (c_1 + c_2)A$.

The required condition is $K[(c_1 + c_2)A]^2K = (c_1 + c_2)A$

i.e., $(c_1 + c_2)^2KAK = (c_1 + c_2)A$ [A is idempotent]

If $c_1 + c_2 = 0$, then $C = 0$, which is situation (i).

If $c_1 + c_2 \neq 0$, then $(c_1 + c_2)KAK = A$.

By Remark 1, we have $c_1 + c_2 = 1$ and hence $KA = AK$, which is situation (ii).

The sufficiency follows by simple computations.

(2) If $A - B \neq 0$, the following relation must be satisfied for C to be k -idempotent.

$$K(c_1^2A + c_2^2B + 2c_1c_2AB)K = c_1A + c_2B \quad (1)$$

By Lemma 1, $C = c_1A + c_2B$ is $\{3\}$ -group periodic. Hence the choice of c_1 and c_2 must be necessarily one among the following cases by Theorem 3.1 of [3].

Case 1 : $c_1 \in \Omega_3$ and $c_1 + c_2 = 0$

By the corresponding sub case 1(b) of Theorem 3.1 of [3], we have $AB = B$. It follows from (1) that $c_1K(A - B)K = A - B$. By Remark 1, we have $c_1 = 1$. Therefore $K(A - B)K = A - B$, which is situation(i).

Case 2 : $c_1 \in \Omega_3$ and $c_1 + c_2 \in \Omega_3$

The possibility of $c_2 \in \Omega_3$ is neglected by Note 2 of Section 3 of [3]. Hence we have $AB = B$ by sub case 2(b) of Theorem 3.1 of [3].

Pre and Post multiplying (1) by BK and KB respectively, we have

$$(c_1 + c_2)^2BK = c_1BKA + c_2BKB \quad (2)$$

$$(c_1 + c_2)^2KB = c_1AKB + c_2BKB \quad (3)$$

Post multiplying (2) by A and B leads respectively to

$$(c_1 + c_2)^2BKA = c_1BKA + c_2BKB \quad (4)$$

$$(c_1 + c_2)BKB = BKB$$

It follows that $c_1 + c_2 = 1$ or $BKB = 0$.

If $c_1 + c_2 = 1$, then it can be proved from (2), (3) and (4) that $KB = BK$.

Substituting this in (1), we have $c_1K(A - B)K = A - B$. By Remark 1, we have $c_1 = 1$. This implies that $c_2 = 0$, a contradiction. Therefore, we must have $BKB = 0$.

It follows from (4) that $(c_1 + c_2)^2 = c_1$ or $BKA = 0$.

If $BKA = 0$, then it follows from (2) that $BK = 0$ and then $B = 0$, a contradiction. Therefore, we must have $(c_1 + c_2)^2 = c_1$. Substituting the value of c_2 in (1) implies that

$$c_1K[A + (c_1^2 - 1)B]K = A + (c_1 - 1)B \quad (5)$$

Cubing (5), we have $KAK = A$. $[AB = B \text{ and } c_1 \in \Omega_3 \text{ (i.e., } c_1^3 = 1)]$

It follows from (5) that $K(A - B)K = B$. $[c_1 \neq 1 \text{ otherwise } c_2 = 0]$

Since $c_1 \in \Omega_3$, we have $c_1 = \omega$ or ω^2 . Hence the situation (ii) or (iii) follows.

Case 3 : $c_1 \in \Omega_3$ and $c_2 \in \Omega_3$

It is clear that $c_1 + c_2 \neq 0$. As before, the possibility of $c_1 + c_2 \in \Omega_3$ is neglected by Note 2 of Section 3 of [3]. Hence we have $c_1 + c_2 \notin \{0\} \cup \Omega_3$ and $AB = 0$ by sub case 3(b) of Theorem 3.1 of [3]. It follows from (1) that

$$K[c_1^2A + c_2^2B]K = c_1A + c_2B \quad (6)$$

Cubing (6), we have

$$K(A + B)K = A + B \quad (7)$$

Pre and post multiplying (6) by AK and A respectively leads to $c_1^2AKA = c_1AKA$, which implies $c_1 = 1$ or $AKA = 0$. Similarly, we get $c_2 = 1$ or $BKB = 0$. Hence we have at least one of the following situations holds.

- (a) $AKA = 0$ and $BKB = 0$
- (b) $c_1 = 1$ and $c_2 = 1$
- (c) $c_1 = 1$ and $BKB = 0$
- (d) $c_2 = 1$ and $AKA = 0$

(a) Post multiplying (7) by B and A leads respectively to

$$KAKB = B \text{ and } KBKA = A \quad (8)$$

Pre multiplying (7) by BK and AK leads respectively to

$$AK = AKB \text{ and } BK = BKA \quad (9)$$

It follows from (8) and (9) that $KAK = B$ and $KBK = A$.

Post multiplying (6) by A and B leads respectively to $c_1^2 = c_2$ and $c_2^2 = c_1$.

Hence we have the following three possibilities.

$$c_1 = c_2 = 1 \quad : \quad c_1 = \omega, c_2 = \omega^2 \quad : \quad c_1 = \omega^2, c_2 = \omega$$

Hence the situations (iv) and (v) are obtained.

(b) The condition (7) follows immediately from (6), which is situation (v).

(c) Post multiplying (6) and (7) by B , we have $KAKB = c_2B = B$.

Since $B \neq 0$, we have $c_2 = 1$. It leads to the situation (v) again along with $BKB = 0$.

(d) This is similar to the sub case (c) and it turns again to the situation (iv).

Interchanging c_1 and c_2 in cases 1 to 3, we see that the role of A and B are interchanged and the conditions (vi) to (ix) are obtained.

By substituting the corresponding sets of conditions (i) to (ix) in (1), the sufficiency can be settled. \square

Theorem 2 — *Let $B \in C_{n \times n}$ be an essentially tripotent matrix uniquely decomposed as $B = B_1 - B_2$, where B_1 and B_2 are non-zero idempotent matrices such that $B_1B_2 = 0 = B_2B_1$. Let $A \in C_{n \times n}$ be a non-zero idempotent matrix such that $AB = BA$. If a linear combination $C = c_1A + c_2B$ with non-zero $c_1, c_2 \in C$, is a k -idempotent matrix then at least one of the following sets of conditions necessarily hold.*

- (i) $c_1 = \frac{1}{2}, c_2 = -\frac{1}{2}, AB_1KB_1 = B_1KB_1A$ and $AB_2KB_2 = B_2KB_2A$,
- (ii) $c_1 = \frac{1}{4}, c_2 = -\frac{1}{4}, AB_1KB_1 = B_1KB_1A$ and $B_2KB_2A = 0$,

- (iii) $c_1 = 2, c_2 = -2, AB_1KB_1 = B_1KB_1A$ and $AB_2KB_2 = 0$,
- (iv) $c_1 + c_2 = 0, AB_1KB_1 = B_1KB_1A$ and $AB_2KB_2 = 0 = B_2KB_2A$,
- (v) $c_1 = 2, c_2 = 1, AB_1KB_1 = 0 = B_1KB_1A$ and $B_2KB_2 = B_2KB_2A$,
- (vi) $c_1 = \frac{5 \pm i\sqrt{7}}{8}, c_2 = \frac{-3 \pm i\sqrt{7}}{8}, B_1KB_1A = 0$ and $AB_2KB_2 = B_2KB_2A$,
- (vii) $c_1 = 2 \pm \sqrt{2}, c_2 = 1 \pm \sqrt{2}, AB_1KB_1 = 0$ and $AB_2KB_2 = B_2KB_2A$,
- (viii) $c_1 - c_2 = 1, AB_1KB_1A = 0$ and $AB_2KB_2 = B_2KB_2A$.

The remaining conditions are obtained from (i) to (viii) by interchanging c_2 with $-c_2$ and B_1 with B_2 . If the choice of c_1 and c_2 differ from all the above conditions then $AB_1KB_1A = 0 = AB_2KB_2A$.

PROOF : Since $B = B_1 - B_2$, we have $B^2 = B_1 + B_2$. Solving for B_1 and B_2 , we find $B_1 = \frac{B + B^2}{2}$ and $B_2 = \frac{B^2 - B}{2}$.

Then, it can be easily proved that

' $AB = BA$ holds if and only if $AB_1 = B_1A$ and $AB_2 = B_2A$ '

A matrix $C = c_1A + c_2B_1 - c_2B_2$ must satisfy the following to be k -idempotent.

$$K[c_1^2A + c_2^2B_1 + c_2^2B_2 + 2c_1c_2AB_1 - 2c_1c_2AB_2]K = c_1A + c_2B_1 - c_2B_2 \quad (10)$$

Pre and post multiplying (10) by B_1K and B_1 respectively, we have

$$[c_1^2AB_1 + c_2^2B_1 + 2c_1c_2AB_1]KB_1 = B_1K[c_1AB_1 + c_2B_1] \quad (11)$$

Pre and post multiplying (11) by A , we have

$$c_1 + c_2 = 0 \text{ otherwise } c_1 + c_2 = 1 \text{ or } AB_1KB_1A = 0 \quad (12)$$

Pre and post multiplying (10) by B_2K and B_2 respectively, we have

$$[c_1^2AB_2 + c_2^2B_2 - 2c_1c_2AB_2]KB_2 = B_2K[c_1AB_2 - c_2B_2] \quad (13)$$

Pre and post multiplying (13) by A , we have

$$c_1 - c_2 = 0 \text{ otherwise } c_1 - c_2 = 1 \text{ or } AB_2KB_2A = 0 \quad (14)$$

While combining the above two sets of situations (12) and (14), we have the following different cases.

Case 1 : $c_1 + c_2 = 0$ and $c_1 - c_2 = 0$

This case is not possible as it leads to $c_2 = 0$, a contradiction.

Case 2 : $c_1 + c_2 = 0$ and $c_1 - c_2 = 1$

It follows immediately that $c_1 = \frac{1}{2}$ and $c_2 = -\frac{1}{2}$. The equation (11) implies that

$$\frac{3}{4}B_1KB_1 = \frac{1}{2}B_1KB_1A + \frac{1}{4}AB_1KB_1 \quad (15)$$

Pre and post multiplying (15) by A , we have $AB_1KB_1 = B_1KB_1A$.

Similarly, we get $AB_2KB_2 = B_2KB_2A$, which is situation (i).

Case 3 : $c_1 + c_2 = 0$ and $AB_2KB_2A = 0$

It follows from (11) that

$$(c_1 + 1)B_1KB_1 = B_1KB_1A + c_1AB_1KB_1 \quad (16)$$

Pre and post multiplying (16) by A , we have $AB_1KB_1 = B_1KB_1A$.

It follows from (13) that

$$3c_1AB_2KB_2 + (c_1 - 1)B_2KB_2 = B_2KB_2A \quad (17)$$

Pre multiplying (17) by A , we have $(4c_1 - 1)AB_2KB_2 = 0$.

Post multiplying (17) by A , we have $(c_1 - 2)B_2KB_2A = 0$.

If $c_1 = \frac{1}{4}$, then $c_2 = -\frac{1}{4}$ and $B_2KB_2A = 0$, which is (ii).

If $c_1 = 2$, then $c_2 = -2$ and $AB_2KB_2A = 0$, which is (iii).

Otherwise $AB_2KB_2 = 0 = B_2KB_2A$, which is (iv).

Case 4 : $c_1 + c_2 = 1$ and $c_1 - c_2 = 1$

This leads to $c_2 = 0$, a contradiction.

Case 5 : $c_1 - c_2 = 1$ and $AB_1KB_1A = 0$

It follows from (13) that

$$(2 - c_1)AB_2KB_2 + (c_1 - 1)B_2KB_2 = B_2KB_2A \quad (18)$$

Pre and post multiplying (18) by A , we have

$$(c_1 - 2)B_2KB_2A = (c_1 - 2)AB_2KB_2 \quad (19)$$

It follows from (11) that

$$(c_1^2 - 3c_1 + 2)B_1KB_1 + (3c_1^2 - 2c_1)AB_1KB_1 = c_1B_1KB_1A \quad (20)$$

Pre and post multiplying (20) by A respectively, we have

$$(4c_1^2 - 5c_1 + 2)AB_1KB_1 = 0 \quad (21)$$

$$(c_1^2 - 4c_1 + 2)B_1KB_1A = 0 \quad (22)$$

- (a) Considering (19), if $c_1 = 2$, then $c_2 = 1$. From (18), we have $B_2KB_2 = B_2KB_2A$. It follows from (21) and (22) that $AB_1KB_1 = 0 = B_1KB_1A$, which is (v).
- (b) Considering (21), if $c_1 = \frac{5 \pm i\sqrt{7}}{8}$, then $c_2 = \frac{-3 \pm i\sqrt{7}}{8}$. It follows from (19) and (22) that $AB_2KB_2 = B_2KB_2A$ and $B_1KB_1A = 0$, which is (vi).
- (c) Considering (22), if $c_1 = 2 \pm \sqrt{2}$, then $c_2 = 1 \pm \sqrt{2}$. It follows from (19) and (21) that $AB_2KB_2 = B_2KB_2A$ and $AB_1KB_1 = 0$, which is (vii).
- (d) If c_1 differ from all the above three subcases (a) to (c), then by (19), we have $AB_2KB_2 = B_2KB_2A$, which is (viii).

The remaining sets of conditions are obtained from the above cases 1 to 5 by interchanging c_2 with $-c_2$ and B_1 with B_2 . If c_1 and c_2 do not obey any of the above cases, then the only possibility is $AB_1KB_1A = 0 = AB_2KB_2A$. \square

ACKNOWLEDGEMENTS

The authors thank the referees for their helpful comments and useful suggestions for the improvement of this paper.

REFERENCES

1. J. K. Baksalary and O.M.Baksalary, Idempotency of linear combinations of two idempotent matrices, *Linear Algebra Appl.*, **321** (2000), 3-7.
2. J. K. Baksalary, O. M. Baksalary and G. P. H. Styan, Idempotency of linear combinations of an idempotent and a tripotent matrix, *Linear Algebra Appl.*, **354** (2002), 21-34.
3. J. Benítez and N. Thome, $\{k\}$ -group periodic matrices, *SIAM J. Matrix Anal. Appl.*, **28**(1) (2006), 9-25.
4. S. Krishnamoorthy and T. Rajagopalan, On k -idempotent matrices, *Int. Rev. Pure Appl. Math.*, **5**(1) (2009), 97-101.
5. S. Krishnamoorthy and T. Rajagopalan, Spectral and k -spectral theory of k -idempotent matrices, *Int. J. Math. Stat.*, **7**(10), Winter (2010), 81-85.
6. C. R. Rao and S. K. Mitra, *Generalized Inverse of Matrices and its applications*, John Wiley and Sons, New York, 1971.